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0<z<Lt>0, 16, ur=a%use+22t, 0<z<1,t>0,
=t uz(0,1) =2, u(1,t) = t,
2+ sindrz. u(z,0) = dcos¥ e,

u(z,0) = 4sin%z.
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PeunTs MeTOIOM pasfeneHus NEPEMEHHBIX CEAYIOUIYIO 3a/1a4y 1711 HEOAHOPOIHOTO YPABHEHUS
TETMIONPOBOIHOCTH :
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Low=alug+2r+1, 0<z<1,t>0, 2 w=0aumz+z+2, 0<z<1,t>0,
w(0,t) =1, u(1,t) =2, uy(0,) = 1, u(1,t) =0,
u(z,0) =z +1. u(z,0) =z -1
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3w =atug +2r+1, 0<z<lt>0, 4 w=adum+z+1, 0<z<1t>0,

w(0,t) =1, uz(1.t) = 2, w(0,t) =0, u(l,t) =1,
u(z,0) =2z + 1. u(z,0) = z.

Sou =0z +2r+1, 0<z<Lt>0, 6 uy=adlu+z+2 0<z<lt>0,
uz(0.8) =2, u(l.t) =1, u(0,8) = 0, ug(1,8) =1,
u(z,0) =2z —1. u(z,0) = z.

7w =atu +t, 0<z<1t>0, 8w =a’uz +2rt, 0<z<1t>0,
u(0,t) = 2t, u(1,t) =1, uz(0,t) = -1, u(l.t) =t,

u(z,0) = z — 3sin27z. u(z,0) =1—-z - cosFz.
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9w =0atuz +26%, 0<z<Lt>0, 10, uy=u,+t2—-1, 0<z<Lt>0,
w(0,t) =1, uy(1.t) = 2t, uy(0.t) =5, uz(1,t) = =1,
u(z,0) = 1+ sin¥Zz. u(z,0) =2+ 5z — 322
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11w = a®ug, + 262, 0<z<1,t>0, 12, up = a®uge +t, 0<z<1,t>0,
u(0,t) =t, u(l.t) = 2t, ug(0,8) = 2t, u(1,1) = 1,
u(z,0) = 2sinwz — sin3rz. u(z,0) =1+ 230357"1;_
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13w = aPuge + 22, 0<z<1,t>0, 14, u =ug +3t=1, 0<z<1,t>0,
u(0,1) = 2t, uz(Lt) = 1, uz(0,8) = 2, uz(1,1) =2,
u(z,0) = z — 2sin®x. u(z.0) =1+ 2z — 2cos3rz.




